[ number of missing inner layers |

== Entries 220978
E Mean 0.1373
F Std Dev 0.3509
] P |
107 Entries 214901
E Mean 0.2081
L Std Dev_ 0.4179
4 I R S PR TP T
10 E Entrles 217110
F Mean 0.2068
r Std Dev 0.4164
1073 T I TTT |
E Entries 222885
r Mean 0.1245
_4 Std Dev 0.3367
10 E_ .......................
10_5__ .................. '\.....:.....I..... 2
01078k
= 14
E E
1.2F--+ :
S I
- .
0.8

0051152253354455

[ number of missing outer layers |

1e Entries 220978

E : + | Mean 1.264

: . |Std Dev 2.036

1 L . U Loy : |

107 : [Entries 214901

F : Mean 1.233

r . |Std Dev 1.981

2 T eeiiiiitiiiiiii..

10 E i [Entries 217110

F ' Mean 1.209

I . |.Std Dev 1.982

10*3=— ------------------ - . P T ]

E : : Entries 222885

r . . Mean 1.241

_4 H . |.Std Dev 2.02

1077 e bl R P

10—5__ .................. R . Laeeannn

1n—e_....l....l | P B
0.9
0.

== DUM_TT__ORIGINAL
e DQM_TT__MODIFIED_layerProcv2

mean hif = DOM_TT__MODIFIED layerProcv2_windows

e DOM_TT__MODIFIED layerProcv2_windows_hits
20

I
[ee]

16
14
12F
10

<hits> vs n

Ratio
T
*
"

Entries 143225
| Mean 2.115
Std Dev. 5.971
: I
= Entries 143225
Y N = S Mean 2.115
10 E Std Dev 5.971
E § I
r Entries 143225
Y R R an 2.115
10 E : : LISA‘E_Dev 5.971
E Entries 143225
4 : Mean 2.115
107~ [ H Std Dev 5.971
10—5 aRREREEEEED Heeeeenaanas e E. - 1 .....
'910;}@,_ MR BT R B
=
g Il
e L | |
WL | | | | ‘
095 i : - s
10 1 10 10 10

10*

10°

10?

10

Entries 220978
. . 12.27
. 5.836
LA : - A T
. . 214901
12.1

217110
ean 12.38

Entries 2228
Mean
td Dev

iy
TTTTT[TTT

5 10 15 20 25 30 35 40

track hits

Ratio

= Entries 228534
i Mean 1.224
1071 Std Dev 4.242
R L e
E Entries 222080
N : : Mean 1.228
=1 I . . Std Dev 4.24
10°F ! ! : ]
E . . Entries 224739
N Mean 1.23
-3 : . Std Dev 4.262
1007 |t -
F Entries 230850
- Mean 1.22
10—4 .......... Std Dev 4.396
-5
107
1083 s
- -
I 1k
0.95— : 5
10 1 10 10? 10
track p_



	Contents
	Page 1


